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Introduction

# In addition to the PFA local calibration, we can also provide the global scale
calibration.
# The global calibration can be done with boson mass distribution.
» The core distribution of the boson mass corresponding to Breit-wigner
convolved with Gaussian distribution.
» Combined fit can extract/isolate the detector effect (response/
resolution).
» This study assumes uniform performance along whole geometry.
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Mean of Gaussian quantifies the shift of peak due to sim/reco
Gives the JES/global PFA scale
Sigma of Gaussian(1) represents the detector resolution.
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breit wigner (x) gauss convolution

>
10¢ |+ fraction = 0.95548 + 0.00011 T

= mg = 1.3290 +0.0020 i

-| sg = 3.9066 +0.0025 F F BW Shape

~| sg2 = 18.966 +0.023 : from truth
ol Histogram
10° =

- e g

20 40 § 60 80 100 120 ]

flavor inclusive, Mjj is calculated from PFA directly by removing
lepton and leading photon.
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breit wigner (x) gauss convolution
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breit wigner (x) gauss convolution
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breit wigner (x) gauss convolution
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breit wigner (x) gauss convolution
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flavor inclusive, Mjj is calculated from PFA directly
by removing leading photon.

Small offset on peak, stay tuning
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EXPERIMENT




W->qq

Events /(0.5)

breit wigner (x) gauss convolution

3
1600 £
| fraction = 0.955754 + 0.000094 !
| mg= 1.1330 + 0.0021 z
1400 mg2 = 12.974 +0.030
-| sg = 4.1620 £ 0.0024 :
1200+ sg2 = 19.370 + 0.020 analytic
1000 BW shape
800
600(—
400
200
%0 40 60 80 100 120
Mij
breit wigner (x) gauss convolution
_ x10°
= - [fraction = 0.95958 + 0.00018
S a0oF- | mg’= 1.0744 +0.0021 2 BW shape
£ - | mg2= 10.790 + 0.045 h
5] | sg = 4.0255 + 0.0031 :
T 12001~ | sg2 = 19.939 + 0.043 from trut
100oF- #  Histogram
™ Tt
800
600 ;
400~ 3
200

Mij

breit wigner (x) gauss convolution

n
o 10°

W inglu

T T THATT]

Even

n

D

I

fraction = 0.955754 + 0.00009
. = 1.1330 + 0.0021
]% = 12.974 + 0.030

sg = 4.1620 + 0.0024

sg2 = 19.370 + 0.020

10°

10*

| IIIIIII

I Illllll

breit wigner (x) gauss convolution

—
<
T T TITTT]

Events /(0.5)

3

10

10°
20

fraction = 0.95958 + 0.00018 o
mg = 1.0744 + 0.0021 i
mg2 = 10.790 + 0.045 c o
sg = 4.0255 + 0.0031
sg2 = 19.939 + 0.043

40



different lavor

Events/ (0.5)

breit wigner (x) gauss convolution breit wigner (x) gauss convolution

= o P = ion = :

= [ fraction = 0.96611 +0.00011 i S | o e an oo 00%| £

- | mg= 1.5231 +0.0027 s I 2321 8.938 + 0.033 +
10°|—| 9= 3.6931+0.0031 “40°}} sg2 = 20.0000 +0.0014

— | sg2= 19.363 +0.033 =
10° - 10°
10° = 10° -

- 1 1 1 a: J | - v |

20 40 60 80 100 120 _ 20 40 60 80 100 120
Mij Mij
W->ud
W->cs

BW @ (f-G1+(1—f)-Gs)



/./->nnqq
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